7 15

31

3-1

No.
a
(13 14.5km)
b
(17 19.5km)
(H5.H6)
c
(19 21.0km)
d B EXIFI=p
(21 22.0km) EMgAIET=k (0 MR-
(H5,H6) ::;:
o =1 o
e » i
(23 24.2km) [CEaEERETIYF
(H5) ([P EE
f
(28.6 29.6km) Ha)
9
(31 32.0km) (H12)
h
(35 36.2km)
i
(57 59.0km)
i
(62 63.0km)
k
(64 64.5km)




«C )
6m ( 3.3m) 4m
5m
(7/15,21-22)
70
60
50
40 —
30
20 H
10
; N _
4m 5m 6m
1 2 3
6 21 ) 1.3m 2.3m 3.3m
(7/15,21-22)
n=61 n=3 n=12 n=52 n=39 n=1 n=24
100% ] ] ]
75% u
50% u
25%
0%
4am 5m 6m
oo m 1 10 = 10
(4mm d) (2<d  4mm)
(0.075<d  2mm) (d<0.075mm)

3.2

>
6m
5m
4m 5m 6m
10 10 r 10
5 H i 5
0 |:| 0 0
1 16 2 24 3 37
1.3m(6/21) |  7.2m(10/20) 2.3m(6/21)|  8.2m(10/20) 3.3m(6/21)|  9.2m(10/20)
¢4mm d) m [ ] (2<d  4mm)
(0.075<d 2mm) O (d<0.075mm)
3.3
4m 5m 6m
) ) ()
200 200 200
100 100 100
0 E D ‘ ‘ 0 ‘ H ‘ ‘ 0 ‘ ‘ ‘ ‘
o o i)
1 16 ) 24 3 37
1.3n(6/20) 7.2m(10/20) 2.30(6/21) 8.2m(10/20) 3.30(6/21) 9.2m(10/20)

34




o 57 i

fRA-3 BiRAR-4
A.P. @ BRI > FIREOKREHM 2 p )  gETaio<s > RESOARITLA5M
T 10—
1 . AL
| T —— BIFATHIE 12)
9 | R . —— iK1 (H16.9.16)
=1 T —— k2 HI6. 11, 25)
H 1 BEAOME
8 S O
8
1 } |l f I |
0 20 40 - 7 i | f |
5 S0 5 (O FERE g @ g
2 S5 D DEEEE
35
2.
6
-3 -4
) )
10
10cm
= 10cm 20cm
m 20cm
5
0
1 16 2 24

1.3m(6/21)| 7.2m(10/20)

3.6

2.3m(6/21)|  8.2n(10/20)






